Q.1 gEIH FHIvA I TATIAETIAR ST ST8?
Ans X 1. (AR Hgd YT ST HRAT S Feid dhel.

X 2. TS YETET Hgd Q1Y 3! SRR s [Afgd .
25 3. e qEd AY S SRR s fAfdd ha.
s 4. RET SEATE Hgd Ay 3! R S S dhet

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330767
6306801286738
6306801286737
6306801286739
6306801286740
Answered

4

2

Q.2 'IUHER 't reaTEn 31 |
Ans X 1. Wwg

X 2.@ue

< 3. &t

o 4. RIS

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330770
6306801286750
6306801286752
6306801286749
6306801286751
Answered

1

0

Q.3 g’ weardt gwETR S |@mm.
Ans X 1. &), Had

X 2. TR, I

X 3. FEd

o 4.5, 7ilE

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330774
6306801286768
6306801286767
6306801286765
6306801286766
Answered

4

2




Q.4 'Gcpe ' ar fRAwgrdf e @i .

Ans X 1.5
X 2.3
o 3. T5p
X 4 Fdpa
Question Type : MCQ
Question ID : 630680330776
Option 11D : 6306801286773
Option 2 ID : 6306801286775
Option 31D : 6306801286776
Option 4 ID : 6306801286774
Status : Answered
Chosen Option: 3
Marks : 2
Q.5 " SRR SRgdladd YR @R eri=ar uRTsFAT= 3TS<uT SITef! <t 3TSTel " fRerrear
Sft o areRTER QntT .
Ans X 1. HAT Site ARG,
72X 2. T A R el
X 3. T rd gla.
a4 SITITAR hTT 3T KRGS
Question Type : MCQ
Question ID : 630680330786
Option 11D : 6306801286815
Option 21D : 6306801286813
Option 31D : 6306801286814
Option 4 ID : 6306801286816
Status : Answered
Chosen Option : 4
Marks : 2
Q.6 iy fRMRR AU S1e[eh aTaRRE=T FvTd! Mg ?
Ans X 1. ¥ FEUT . ATEAT U SIAgE AT, A6t AHdh aTd i AdTd |
X 2. "t FEUTTC! AT Uceh STag@ e da! AR aTd Y AdTd
X 3.t FEuTTe " H1EaT Udieh SIdgEAT dedt AHdh aTd i ddrd !
W 4. T Ul , " HTSAT Ui aTdgEiedT dedl JHeh ald hd AdTd ?"
Question Type : MCQ
Question ID : 630680330768
Option 11D : 6306801286741
Option 2 ID : 6306801286743
Option 31D : 6306801286744
Option 4 ID : 6306801286742
Status : Answered
Chosen Option : 4
Marks : 2




Q.7 ' yHf=RUT' & YHTH HIvTET 31me?

Ans o 1. QY
X 2. srarfmg
X 3.f&1
X 423
Question Type : MCQ
Question ID : 630680330779
Option 11D : 6306801286786
Option 2 ID : 6306801286787
Option 31D : 6306801286785
Option 4 ID : 6306801286788
Status : Answered
Chosen Option : 1
Marks : 2
Q.8 'S SRAETET WReh 31Ul ' T areRaRTE 31 T,
Ans X 1. HOEY IR0
W 2. BR AIS THIEd UL,
< 3. fSrdaR amar Fgot
X 49U IERIET arent
Question Type : MCQ
Question ID : 630680330784
Option 11D : 6306801286807
Option 2 ID : 6306801286805
Option 31D : 6306801286808
Option 4 ID : 6306801286806
Status : Answered
Chosen Option : 2
Marks : 2
Q.9 'gfafaa srar R ar g R =u sitear.
Ans X 1. T AT ST HE TR,
25 2. At srary vl smga?
X 3. g afad erare o Tt
o 4. Fafra srvare e,
Question Type : MCQ
Question ID : 630680330769
Option 1 ID : 6306801286746
Option 2 ID : 6306801286747
Option 31D : 6306801286745
Option 4 ID : 6306801286748
Status : Answered
Chosen Option : 4
Marks : 2




Q.10 '@ ' et GHMETT QMg Tivm.

Ans X 1. ersdt
X 2.@gd
X 3.@x
Wi 4. g
Question Type : MCQ
Question ID : 630680330775
Option 11D : 6306801286769
Option 2 ID : 6306801286770
Option 31D : 6306801286772
Option 4 1D : 6306801286771
Status : Answered
Chosen Option : 4
Marks : 2
Q.11 ' Ut TTeRul ' AT aTeRraRTET 31 9.
Ans X 1. varen M e gt
W 2. ATSATSIRId h1H ot
< 3. &1 s wvot
X 4. gT&laR ke oY
Question Type : MCQ
Question ID : 630680330785
Option 11D : 6306801286812
Option 2 1D : 6306801286811
Option 31D : 6306801286809
Option 4 1D : 6306801286810
Status : Answered
Chosen Option : 2
Marks : 2
Q.12 'pufdeg ' ot fawgredf ereg @i .
Ans X 1.uRg
o 2. Quideg
X 3. g
X 4.fg
Question Type : MCQ
Question ID : 630680330777
Option 11D : 6306801286779
Option 2 ID : 6306801286777
Option 31D : 6306801286778
Option 4 1D : 6306801286780
Status : Answered
Chosen Option: 2
Marks : 2




Q.13 VHTUTAEIIHR 3iTeh QUeg 2.

Ans X 1. &ufeH
X 2. wugls
o 3. Hudls
X 4. wudia
Question Type : MCQ
Question ID : 630680330787
Option 11D : 6306801286817
Option 2 ID : 6306801286820
Option 31D : 6306801286818
Option 4 1D : 6306801286819
Status : Answered
Chosen Option: 3
Marks : 2
Q.14 YIS g1 HIAUhR Jdifdeh Aty sioft dher?
Ans X 1.9d IHeEN
W 2. 9d U1y
< 3. AER gt
75 4. 9d ARM
Question Type : MCQ
Question ID : 630680330789
Option 11D : 6306801286828
Option 2 ID : 6306801286827
Option 31D : 6306801286826
Option 4 1D : 6306801286825
Status : Answered
Chosen Option : 2
Marks : 2
Q.15 ' e St FRaaer g« gidr. | arereie vt sitear.
Ans X 1. dH®dT
W 2. rioht
< 3. grioT et
X 4. <1y Fwoft
Question Type : MCQ
Question ID : 630680330773
Option 1 ID : 6306801286762
Option 2 1D : 6306801286761
Option 31D : 6306801286764
Option 4 1D : 6306801286763
Status : Answered
Chosen Option : 1
Marks : 0




Q.16 '™ & ™ ' a1 ol gl orf i,

Ans

X 1. amefiea Yeherd R UEOt

X 2. e f s g

o 3. 00 = &t i FUAE T B
X 4. Aihtean sETar o9 8ot

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330782
6306801286799
6306801286797
6306801286798
6306801286800
Answered

3

2

Q.17 Uiy ' eregr=T 3ref Him.

Ans

W 1. gareht
X 2. W
X 3. vEra
X 4. uffea

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680330771
6306801286755
6306801286753
6306801286754
6306801286756
Answered

1

2

Q.18 g&ierdeht shelt FRT e e TeeuETH! Sl siwar.

Ans

X 1. oo forafe

W 2. FUYT, TR
X 3. prgege, Rt
X 4. JYE , HEdHH

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330790
6306801286832
6306801286830
6306801286829
6306801286831
Answered

2

2




Q.19 ' IATER USUIRT UTUTAIE ' AT AEHAHGTIE S Teh 205 gt

Ans X 1. ST
X 2. gfar
X 3. TR
w4, uTYaT
Question Type : MCQ
Question ID : 630680330788
Option 11D : 6306801286821
Option 2 ID : 6306801286823
Option 3 1D : 6306801286824
Option 4 1D : 6306801286822
Status : Answered
Chosen Option : 4
Marks : 2
Q.20 'R0 fohewT ST ISt R arfasft s fA R smueaT agear=izft fRerrer
St ghg aTerER Qntr.
Ans X 1. 37 TTSRT dhel.
W 2. T hel.
X 3. o e,
< 4. 31T 3fihed.
Question Type : MCQ
Question ID : 630680330783
Option 11D : 6306801286803
Option 2 ID : 6306801286802
Option 3 1D : 6306801286804
Option 4 1D : 6306801286801
Status : Answered
Chosen Option : 2
Marks : 2
Q.21 ' geld - RAeegg ' & HE R Rl emg?
Ans o 1. 301 TUGR
< 2. Sad fawy ARG IR
X 3. Sd ar
X 4. sfiepia @
Question Type : MCQ
Question ID : 630680330791
Option 11D : 6306801286834
Option 2 ID : 6306801286835
Option 31D : 6306801286836
Option 4 1D : 6306801286833
Status : Answered
Chosen Option : 4
Marks : 0




Q.22 ' faTepRYT ' ereeTE oY eree @ivh .

Ans X 1. IR
wi 2. hROT
X 3. 3R
X 4.gm
Question Type : MCQ
Question ID : 630680330778
Option 11D : 6306801286781
Option 2 ID : 6306801286782
Option 3 ID : 6306801286783
Option 4 ID : 6306801286784
Status : Answered
Chosen Option : 2
Marks : 2
Q.23 ' dUTEROT' 9T GHTHETET A7 fAug .
Ans X 1. UG SA=ROT
o 2. AUTETST TR
< 3. quriier TRoT
25 4. qUIEH TR
Question Type : MCQ
Question ID : 630680330780
Option 11D : 6306801286789
Option 2 ID : 6306801286791
Option 3 ID : 6306801286790
Option 4 ID : 6306801286792
Status : Answered
Chosen Option : 1
Marks : 0
Q.24 Wit ATETET e - T ST At . T ATeRITelier AT Siiesar.
Ans X 1. &0
W 2.9
X 3. PR
X 4. ol
Question Type : MCQ
Question ID : 630680330772
Option 11D : 6306801286757
Option 2 ID : 6306801286758
Option 3 ID : 6306801286760
Option 4 ID : 6306801286759
Status : Answered
Chosen Option: 2
Marks : 2




Q.25 'sRAFE M2 _____ . & rgor guf o
o 1. 37O TR aTed T

X 2. oM act fagre

X 3. oy fRidrer SR e

X 4. onfor Bt R Ag T

Ans

Question Type : MCQ
Question ID : 630680330781
Option 11D : 6306801286796
Option 2 1D : 6306801286793
Option 31D : 6306801286794
Option 4 1D : 6306801286795
Status : Answered
Chosen Option : 1
Marks : 2
Section : English Language
Q.1 The given sentence may have an error. Select the option that expresses the sentence
correctly in its past tense. Select the option ‘No error identified’ if there is none.
He thinks about flying to Turkey, but all the flights was booked.
Ans X 1. He was thinking to fly to Turkey, but all the flights are booked
/< 2. He thought about to fly to Turkey, but all the flights were booked
## 3. He had thought about flying to Turkey, but all the flights were booked
X 4. No error identified
Question Type : MCQ
Question ID : 630680252879
Option 11D : 630680981496
Option 2 ID : 630680981495
Option 31D : 630680981498
Option 4 1D : 630680981497
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 Select the most appropriate question tag to fill in the blank.
She is not good at mathematics, ?
Ans X 1.sheisn't
X 2.sheis
/X 3.isn't she
o 4.is she
Question Type : MCQ
Question ID : 630680274255
Option 1 ID : 6306801065534
Option 2 ID : 6306801065533
Option 31D : 6306801065531
Option 4 1D : 6306801065532
Status : Answered
Chosen Option : 4
Marks : 2




Q.3 Select the most appropriate option to fill in the blank.

Before conducting any medical procedure, the doctor must obtain the patient's consent

ensure that they are fully informed and involved in the decision-making process.

Ans 1. 10
X 2. with
X 3. for
X 4. by
Question Type : MCQ
Question ID : 630680279143
Option 11D : 6306801084850
Option 2 ID : 6306801084852
Option 31D : 6306801084849
Option 4 ID : 6306801084851
Status : Answered
Chosen Option : 1
Marks : 2
Q.4 Select the most appropriate synonym of the given word.
Acquisitive
Ans X 1.Proud
/< 2. Hidden
% 3. Greedy
25 4. Definite
Question Type : MCQ
Question ID : 630680274594
Option 11D : 6306801066890
Option 2 ID : 6306801066889
Option 31D : 6306801066888
Option 4 ID : 6306801066887
Status : Answered
Chosen Option : 4
Marks : 0
Q.5 Select the most appropriate option to fill in the blank.
You are far tolerant than | am.
Ans o 1. more
< 2.much
X 3.very
< 4. than
Question Type : MCQ
Question ID : 630680274327
Option 11D : 6306801065822
Option 2 ID : 6306801065819
Option 31D : 6306801065820
Option 4 ID : 6306801065821
Status : Answered

Chosen Option :
Marks :

1
2




Q.6 Select the most appropriate punctuation mark to fill in the blank.

My friend was a convent-educated student with fairly sophisticated English at least
spoken or colloquial English.
Ans 4 1. — (em dash)
< 2.:(colon)
X 3., (comma)
X 4.; (semicolon)
Question Type : MCQ
Question ID : 630680279726
Option 11D : 6306801087164
Option 2 1D : 6306801087166
Option 31D : 6306801087163
Option 4 ID : 6306801087165
Status : Answered
Chosen Option: 3
Marks : 0
Q.7 Select the most appropriate meaning of the given proverb.
A stitch in time saves nine.
Ans X 1. Nine stitches are necessary for every garment.
#< 2. Mending clothes takes a long time.
o 3. Early action prevents bigger problems later.
/< 4. Time management is crucial for sewing.
Question Type : MCQ
Question ID : 630680252142
Option 11D : 630680978548
Option 2 ID : 630680978550
Option 3 1D : 630680978547
Option 4 1D : 630680978549
Status : Answered
Chosen Option: 3
Marks : 2
Q.8 Select the most appropriate question tag to fill in the blank.
So he is going overseas, ? That's great to hear.
Ans X 1.ishe
o 2.isn't he
/X 3.does he
/< 4.dothey
Question Type : MCQ
Question ID : 630680279747
Option 11D : 6306801087240
Option 2 ID : 6306801087239
Option 31D : 6306801087241
Option 4 ID : 6306801087242
Status : Answered
Chosen Option : 2
Marks : 2




Q.9 Select the most appropriate option to fill in the blank.
| think you are making the wrong decision.

Ans X 1. Nicely

75 2. Honest
%" 3. Honestly
X 4. Nice
Question Type : MCQ
Question ID : 630680280723
Option 11D : 6306801091128
Option 2 1D : 6306801091127
Option 31D : 6306801091129
Option 4 1D : 6306801091130
Status : Answered
Chosen Option: 3
Marks : 2
Q.10 Select the INCORRECTLY spelt word in the given sentence.
A man was lying unconsciuos in a well and would have been dead if some passer-by had not
peeped into the well and screamed for help.
Ans X 1.peeped
/5 2. screamed
%" 3. unconsciuos
5 4. passer-by
Question Type : MCQ
Question ID : 630680274282
Option 11D : 6306801065641
Option 2 ID : 6306801065642
Option 31D : 6306801065639
Option 4 1D : 6306801065640
Status : Answered
Chosen Option : 3
Marks : 2
Q.11 Select the most appropriate punctuation mark to fill in the blank.
None has control over time time will work at its own pace, and humans have to
follow this pace.
Ans X 1.,(comma)
% 2., (semicolon)
& 3.- (hyphen)
/5 4. :(colon)
Question Type : MCQ
Question ID : 630680274254
Option 11D : 6306801065528
Option 2 1D : 6306801065530
Option 31D : 6306801065527
Option 4 1D : 6306801065529
Status : Answered
Chosen Option : 2
Marks : 2




Q.12 In the following sentence, one of the four underlined words is incorrectly spelt. Identify the

INCORRECTLY spelt word.

On this special occasion, it is necesary to provide a warm welcome and make all the guests

feel comfortable.
Ans " 1. necesary

X 2. special
25 3. occasion

X 4. comfortable

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252114
630680978437
630680978435
630680978436
630680978438
Answered

1

2

Q.13 Select the most appropriate form of the verb given in brackets to fill in the blank.

She told me that she
Ans X 1.is hearing

/5 2. has been hearing
% 3. heard
< 4. has heard

(hear) the church bells ring.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680279738
6306801087211
6306801087212
6306801087213
6306801087214
Answered

3

2

Q.14 Select the most appropriate synonym of the underlined word.

The medication helps to alleviate pain and discomfort.

Ans X 1.Intensify
X 2. Increase
/X 3. Worsen
4 4. Relieve

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680252148
630680978572
630680978571
630680978574
630680978573
Answered

4

2




Q.15 Select the option that expresses the given sentence in active voice.

Indian music was heard at the inauguration of the cultural centre.

Ans " 1. Everyone heard Indian music at the inauguration of the cultural centre.

#< 2. Everyone had heard Indian music at the inauguration of the cultural centre.

#< 3. Indian music was had been at the inauguration of the cultural centre.

/X 4. Indian music was played at the inauguration of the cultural centre.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270800
6306801052386
6306801052387
6306801052389
6306801052388
Answered

1

2

Q.16 Select the most appropriate option to fill in the blank.
Prachita had a cup of tea.

Ans  * 1. drunk
75 2. drink
/5 3. drunken
/X 4. drank

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277584
6306801078765
6306801078767
6306801078768
6306801078766
Answered

1

2

Q.17 Select the most appropriate meaning of the given phrase.

The squeaky wheel gets the grease.
Ans " 1. People who complain the most receive the most attention

/< 2. People who learn new things for fun and excitement
Z5 3. People who solve problems quietly by themselves

X 4. People who grease their vehicles regularly

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274289
6306801065667
6306801065669
6306801065668
6306801065670
Answered

1

2




Q.18 Select the most appropriate ANTONYM of the given word.

Speck
Ans X 1.Point

< 2. Blot
25 3. Fleck

...f4. Blank

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274315
6306801065773
6306801065772
6306801065771
6306801065774
Answered

2

0

Q.19 Part of the given sentence that has been underlined contains an error. Select the option that

rectifies the error.

The teachers will be finish the meeting by midday.
Ans X 1. will have been finished

75 2. will be finished
4 3. will have finished
X 4. will have be finished

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680270758
6306801052220
6306801052219
6306801052221
6306801052218
Answered

1

0

Q.20 Select the most appropriate option to fill in the blank.

____power of his eyes was considerably enhanced.
Ans X 1.An

X 2.1n
X 3.A
" 4. The

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680252903
630680981593
630680981594
630680981591
630680981592
Answered

4

2




Q.21 Select the most appropriate meaning of the given idiom.

Clean slate

Ans 4 1. afresh start
#< 2. an easy thing to do
25 3.agood reputation

/X 4. a hygienic surrounding

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270818
6306801052460
6306801052459
6306801052461
6306801052458
Answered

1

2

Q.22 Select the option that expresses the given sentence in active voice.

It is thought to have been a complex problem.

Ans X 1.Itis acomplex problem.

/5 2. People think it is a complex problem.

/X 3. People thought it had been a complex problem.

## 4. People think it has been a complex problem.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270801
6306801052393
6306801052392
6306801052391
6306801052390
Answered

2

0

Q.23 Select the most appropriate option to fill in the blank.

The car was
Ans X 1.bad

o 2. badly
/X 3. very bad
/< 4. badness

damaged in the accident.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680274599
6306801066908
6306801066907
6306801066909
6306801066910
Answered

2

2




Q.24 Select the most appropriate set of articles to fill in the blanks.

Itis universally acknowledged truth that every child in the family desires to be
heir.

Ans o 1.3 an

< 2.an, No article required

X 3.an,a
X 4.the, a
Question Type : MCQ
Question ID : 630680252128
Option 11D : 630680978492
Option 2 ID : 630680978494
Option 31D : 630680978491
Option 4 1D : 630680978493
Status : Answered
Chosen Option: 1
Marks : 2
Q.25 Parts of the given sentence have been underlined. One of them contains an error. The
underlined parts are given as options with some changes. Select the option that correctly
rectifies the error.
He says that he has gone to Mumbai to meet his client coming from Dubai.
Ans X 1.He says that's
5 2. to meeting
" 3. will go
< 4.to come
Question Type : MCQ
Question ID : 630680279568
Option 1 ID : 6306801086535
Option 2 ID : 6306801086537
Option 31D : 6306801086536
Option 4 1D : 6306801086538
Status : Answered
Chosen Option : 3
Marks : 2

Section : General Knowledge




Q.1 WRATS @iefierdd Siora w@arer g Aefar Rdisiata, Rfdra vwama snfor dtsi geaie/

fArR R FrvaETSE Asd HATeT STe?
Ans X 1.7 HAed
75 2. srf HATer
W 3. A SNTOT e forepTer watrera

X 4. et Sfor = w3

Question Type : MCQ
Question ID : 630680275482
Option 1 ID : 6306801070441
Option 21D : 6306801070439
Option 31D : 6306801070442
Option 4 ID : 6306801070440
Status : Answered
Chosen Option : 4
Marks : 0
Q.2 Wit ggHe WREEd! giaTagea gy fAa siiear.
1. TUTHE T gid ges A1 i gid.
2. it 1875 Al aifrat A2 Sf THTSITR ST Sheft.
3. @it @ faRTeTTE AT siy fAerericg fAamor gaa.
4, it ‘d&iehe uRd =T (‘Go back to Vedas®) 212ft sivumarsht shea fAgter der.
Ans X 1.1,33mfor4
o 2.1,2 3013
7 3.2,3anfr4
X 4.1,2 M0 4
Question Type : MCQ
Question ID : 630680275180
Option 1 ID : 6306801069234
Option 2 ID : 6306801069231
Option 31D : 6306801069233
Option 4 ID : 6306801069232
Status : Answered
Chosen Option : 2
Marks : 2
Q.3 Ture & AT Tt HERIETT ArTfoies GURUT=AT ST v gausTErs! o fafgvars
gEard thefl?
Ans X 1. dfgsepd 9Rd
X 2. WeT
X 3. 5T
w4 TR
Question Type : MCQ
Question ID : 630680287116
Option 11D : 6306801116374
Option 2 ID : 6306801116373
Option 31D : 6306801116372
Option 4 ID : 6306801116371
Status : Answered
Chosen Option : 4
Marks : 2




Q.4 Wreiierdehl FIuTel YR ARTRRE Tt HRuaT= Ugd E?
Ans X 1.5

< 2. AgfifdieRor
X 3.4
o 4. Rasu

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680269985
6306801049191
6306801049192
6306801049194
6306801049193
Answered

4

2

Q.5 1826 A IS AT URUITH FFUF WiefieTdhl v gg HYETT 3HTeA?
Ans X 1.3 FACH TG

W 2. e sheit-amif geg

X 3. ufgd sl g5

X 4 g shet-aff gg

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275673
6306801071206
6306801071203
6306801071205
6306801071204
Answered

4

0

Q.6 aUTHIAF AT AT ETST=aT Aot STfor enfifer Guronaed agrft ghomr ufger urda

TG hI0T har?
Ans f1. Mg HGIRTST
X 2. afsaR IS
2 3. A aiforg STt «1mg

X 4. el g M8

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275168
6306801069184
6306801069186
6306801069183
6306801069185
Answered

1

2




Q.7 Which of the following statements are correct about Right to Information?
i. It accepts people’s rights and privileges to know.
ii. It makes political system accountable and transparent.
iii. It makes people aware of public polices and decision making.
iv. It makes administration more innovative.

Ans X 1.iiiandiv
o 2.1, ii and iii
25 3. iiiand iv
X 4. ii,iii, and iv

Question Type :
Question ID :

: 6306801069312
: 6306801069311
: 6306801069313
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 1D

McQ
630680275200

6306801069314
Answered

1

0

Q.8 WIeileTdehl HITTA WRATAIA Ufget IHTR (UTUTYE3) &4 3MR?
Ans X 1. gezeH

X 2. PR AT

3. RiceT Iefra

X A PieiE qaa

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275441
6306801070278
6306801070275
6306801070277
6306801070276
Answered

3

2

Q.9 2 3rA-9a Aftet COP 27 ned,
T HUTT T gl

Ans X 1.3
o 2.
X 3.9
X 4. aRtaR

ZR ‘39 3R FTg%eTsH (In our LiFEtime)’ & #igiw

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270582
6306801051515
6306801051514
6306801051517
6306801051516
Answered

4

0




Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275706
6306801071337
6306801071336
6306801071335
6306801071338
Answered

3

2

Q.11 f3daR 2022 Fed, FHivTAT ASA AEE TR AR TS G Fefl?

Ans

o 1. HeETTg
X 2. feurae wesr
X 3.

27X 4. sty

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680269948
6306801049045
6306801049046
6306801049044
6306801049043
Answered

3

0

Q.12

Ans

g a3 30T Y8R TiuRET Ugidiel Uah Siehighd S118.
X 1. mageeTe

X 2. vt
o 3. 3T
X A faeta

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680270022
6306801049342
6306801049341
6306801049339
6306801049340
Answered

3

2




Q.13 Indiais the
Index reported by Transparency International.

Ans 4 1. 85th least corrupt nation out of 180 countries
Z5 2. 135th least corrupt nation out of 180 countries
/< 3.90th least corrupt nation out of 180 countries

#< 4.100th least corrupt nation out of 180 countries

according to the 2022 Corruption Perceptions

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680270585
6306801051526
6306801051527
6306801051529
6306801051528
Answered

3

0

Q.14 Which of the following statements is increate with respect to writing emails?

Ans X 1.The ‘TO' and ‘CC’ fields are often used interchangeably.
#5 2. We can leave the ‘CC’ field blank.
## 3. We cannot add more than one email address in the ‘TO’ field.

/X 4. We can leave the ‘BCC’ field blank.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680281081
6306801092562
6306801092561
6306801092559
6306801092560
Answered

4

0

Q.15 RATIA hivrd ISy g afie faeiol toReen @rRGd/wws Sheiad! siead sa?
X1 WU

X 2. detromn
X 3. e

.‘r4.qf%ﬁw

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680275776
6306801071617
6306801071616
6306801071618
6306801071615
Answered

4

2




Q.16 efieq gfar SRy - 2023 g, et wivrar SR gaviues Siaa?
K 1. FfeaTEIsT TR ooy @ a7

X 2. . & Riy snfor e Jgara

o 3. TS THRE o RRr A

75 4. %, sfipid ooy e 99

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :

Option 3 ID
Option 4 ID
Status

McCQ
630680269891
6306801048816
6306801048818

: 6306801048815
: 6306801048817
. Answered
Chosen Option :
Marks :

3
2

Q.17 RIvTAT YR Irsamed i wqu emg?
W 1. Hemee

X 2. I

X 3. FWue

X 4. fr

Ans

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680275807
6306801071741
6306801071742
6306801071740
6306801071739
Answered

4

0

Q.18 AN fAfATH, 1955 =0T herd 4 Sifa
reha.

X 1. AmReRreRoT
W 2. AR
X 3.5

X 4, Fieoh

Ans

ZR YR ARTReR Ut et SIS

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276540
6306801074658
6306801074656
6306801074655
6306801074657
Answered

4

0




Q.19 WRATAT______ =7 Aqearareiis AE 3ot raemg= wifdeor (NDMA) & wRardte

AT HTEATUATN Tei=a T .
Ans o 1. Tauer
X 2. gt
5 3. gt
X 4. IuIguLt
Question Type : MCQ
Question ID : 630680275432
Option 11D : 6306801070240
Option 21D : 6306801070239
Option 3 ID : 6306801070241
Option 4 ID : 6306801070242
Status : Answered
Chosen Option : 1
Marks : 2
Q.20 BATH F&d HAMRY &M 2023 TR, GHG ISt Sfor =T YeehiAed WRATAT
‘I oIt S0gTd ATAT 3118,
Ans o 1. SofET AR
X 2. TS
X 3. gamHe gRoT
X 4. stera St
Question Type : MCQ
Question ID : 630680275414
Option 11D : 6306801070170
Option 21D : 6306801070167
Option 31D : 6306801070168
Option 4 ID : 6306801070169
Status : Answered
Chosen Option : 1
Marks : 2
Q.21 @refieTdehl THIUTEAT WREATT AT v 2R T wgu siisad Ssia?
Ans o 1. STl Gl
X 2. dtSh. fewsen
< 3. TUTes T Mgt
X 4. un.sh IS
Question Type : MCQ
Question ID : 630680287110
Option 11D : 6306801116348
Option 21D : 6306801116347
Option 31D : 6306801116349
Option 4 ID : 6306801116350
Status : Answered
Chosen Option : 1
Marks : 2




Q.22 =R Ferd TR ST,

Ans X 1.1764
X 2.1775
W 3.1757
X 4.1765
Question Type : MCQ
Question ID : 630680275658
Option 11D : 6306801071145
Option 2 ID : 6306801071143
Option 31D : 6306801071144
Option 4 ID : 6306801071146
Status : Answered
Chosen Option: 3
Marks : 2
Q.23 @refterdehl vt geargewh TR wRda Tsaugera geryd wda sitseht AAt?
Ans o 1. 42 a7 HeIgRE Sfafram
75 2. 44 91 geATgeT st
X 3. 41 a1 gerge sifafm
X 4. 43 a1 geATge fafam
Question Type : MCQ
Question ID : 630680276526
Option 11D : 6306801074600
Option 2 ID : 6306801074602
Option 31D : 6306801074599
Option 4 1D : 6306801074601
Status : Answered
Chosen Option: 1
Marks : 2
Q.24 3igHM 3N FARIaR Aeidehl HIvrear dereR WRATH Yehia Aftha SaTem e 3mg?
Ans o 1 SR AT
/X 2. AHa@ast (Nancowry) s
X 3. faae
X 4. fafee sigae s
Question Type : MCQ
Question ID : 630680275766
Option 1 ID : 6306801071575
Option 2 ID : 6306801071577
Option 31D : 6306801071578
Option 4 1D : 6306801071576
Status : Answered
Chosen Option : 1
Marks : 2




Q.25 2022-23 =T Td Wi leTdeh! ShIUTAT T 0TS Shiaeh fSiehedT?

Ans

o 1.9k
X259

X 3. e
X 4w

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status:

Chosen Option :

Marks :

McQ
630680255011
630680990005
630680990003
630680990004
630680990006
Answered

2

0

Section : General Intelligence

Q.1 forarear mdR urdfardt 8 | 785 ml Fu sHaw. SR U 35 AlchiAed THI UHTONE ared i, a¥

Uk a=hier fhell gu et A1?
Ans X 1.255ml
o 2. 251 ml
X 3.254ml
25 4.250 ml
Question Type : MCQ
Question ID : 630680277205
Option 11D : 6306801077296
Option 2 ID : 6306801077294
Option 31D : 6306801077295
Option 4 ID : 6306801077293
Status : Answered
Chosen Option : 2
Marks : 2
Q.2 dgl=an
(-20)x (-1)+14+7.
Ans 122
X 2.-22
X 3.18
X 4.-18
Question Type : MCQ
Question ID : 630680277168
Option 11D : 6306801077148
Option 2 ID : 6306801077147
Option 31D : 6306801077146
Option 4 ID : 6306801077145
Status : Answered
Chosen Option : 4
Marks : 0




Q.3 IUTRAIHR, W IR HeR-THgiean Sisaidd {1 gt RAfe yer war smga sifor sram

Ans

=21 ek 7C TR hdTd. 1 Tensft efda qaeten gata At

X 1.2c-1L
% 2.AD - UM
X 3.L0 - UX
w" 4.5V - BD

Question Type :
Question ID :
Option 11D :

Option 2 ID

Option 4 ID

McQ
630680273899
6306801064118

: 6306801064115
Option 31D :
: 6306801064117
Status:
Chosen Option :
Marks :

6306801064116

Answered
4
2

Q.4 U ghMERM 2319.60 fohwdien e awy faera gaefl. 25% 71 Aefavarms!, = wtorer

Ans

sigrfaa foraeten ot awg e mifgsi?

W 1.3400
% 2.3600
< 3.3500
X 4.3450

Question Type :
Question ID :
Option 11D :

Option 2 ID
Option 3 ID

McQ
630680277311
6306801077693

: 6306801077696
: 6306801077695
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801077694
Answered

1

2

Q.5 @refier SET-ATferchar Tg w1 oo arareiisr wei= I<R a. (Wd ST a1 thass Yah-3idht

Ans

AT 3MTEd.)

() 8436215734216757952418 (I3)

1 3121 fohelt Tw dwe engd, suidhl udfieaT arasdla anef g gw S ang oo aiasdia

X 15
X 2.3
X 3.2

w4 4

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680257439
630680999662
630680999660
630680999659
630680999661
Answered

4

2




Q.6 SR 110 31 fAera, = 120 Srisai=h e fohwa age gia. @R ToTh cachard fareft amd?

Ans

x 1 115%
1

X2 9=ty
9
10

X3 107%

1
— o

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 3 ID

MCQ
630680277316

: 6306801077713
: 6306801077714
: 6306801077715
Option 4 1D :
Status :

Chosen Option :
Marks :

6306801077716
Answered

4

2

Q.7 41 8 km/h S yrad. far 200 m UR FHRUATATS! fhelt e ARe?
W 1.90 o

X 2.54 Tdhg
X 3.175 ke
X 4.120 Tdhe

Ans

Question Type :
Question ID :

: 6306801085676
: 6306801085675
: 6306801085678
Option 41D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID

McQ
630680279352

6306801085677
Answered

1

2




Q.8 R sjEems usiRgremn (?) Sl g et aigst?
58, 52, 46, 40, 34,?
Ans X 1.24
X 2.26
7 3.30
o 4.28
Question Type : MCQ
Question ID : 630680272822
Option 1 ID : 6306801059850
Option 2 ID : 6306801059847
Option 31D : 6306801059849
Option 41D : 6306801059848
Status : Answered
Chosen Option : 4
Marks : 2
Q.9 IR r=-sitsar Rear engq. @idhl i fafe uar Tw= smdd onfor ges dres) g, aeht
ST reE-SiE et
Ans X 1.SgN: A
X 2. famm : iR
W 3. TTOTgEY : SfETor
K 4,99 HR
Question Type : MCQ
Question ID : 630680273889
Option 11D : 6306801064078
Option 2 ID : 6306801064076
Option 31D : 6306801064075
Option 41D : 6306801064077
Status : Answered
Chosen Option: 3
Marks : 2
Q.10 31&R, T, R g R mfcdan T e snfoy géie usma swR an.
(EEMD+T7MAZ(5%A9@8S6*P3Y #E (Iu)
3121 foRelt Tt smdd, ST arasdia s U 31eR nfoy arasdla dar Uas g &« smd?
Ans X 1.1
2.2
X 3.3
X 4.0
Question Type : MCQ
Question ID : 630680256950
Option 1 ID : 630680997712
Option 2 ID : 630680997713
Option 31D : 630680997714
Option 4 ID : 630680997711
Status : Answered
Chosen Option : 2
Marks : 2




Q.11 222.22 +22.22 + 12 + 0.22 + 0.02 3 g4 foheft amd?
Ans o 1.256.68

< 2.255.68
X 3.256.08
X 4.256.86
Question Type : MCQ
Question ID : 630680277187
Option 11D : 6306801077222
Option 2 1D : 6306801077223
Option 3 1D : 6306801077221
Option 4 ID : 6306801077224
Status : Answered
Chosen Option : 1
Marks : 2
Q.12 Zusht quiHTATshATR uReedT, Rewar aifereha usiR=gren (?) Snf &g e uifigst?
ZWB, BCG, DIL, FOQ, ?
Ans X 1.1UV
W 2. HUV
X 3.GVwV
X 4.6VX
Question Type : MCQ
Question ID : 630680271378
Option 11D : 6306801054585
Option 2 ID : 6306801054586
Option 3 1D : 6306801054587
Option 4 ID : 6306801054584
Status : Answered
Chosen Option : 2
Marks : 2




Q.13 A 3for B a1 g1 diear Sieh#t 21 a1Hid S0 18 ATHid Ueh EThl W= Achdld. giwg) dieat Garra

A5 ITSTUT, TTeh! WRUATATS! ANTOTRT a5 foheft 3rder?

Ans 27
x1. 11=dN
39
27
w2 9—d
39
27
x 3 8—dY
39
27
x4 10— d¥
39
Question Type : MCQ
Question ID : 630680279412
Option 11D : 6306801085915
Option 2 ID : 6306801085917
Option 3 1D : 6306801085918
Option 4 ID : 6306801085916
Status : Answered
Chosen Option : 2
Marks : 2
Q.14 @refter Arfercha usiRgran (?) Srft e sixft s Rewar wataiga fAasr
23,24,27,34,49,?
Ans X 1.87
X282
W 3.80
X 4.77
Question Type : MCQ
Question ID : 630680271186
Option 11D : 6306801053817
Option 2 ID : 6306801053819
Option 3 1D : 6306801053816
Option 4 ID : 6306801053818
Status : Answered
Chosen Option: 3
Marks : 2




Q.15 200 yw9ichs 30 RauiASI=T qRasT 318, SR AT 50 gy g A, TR Swetedr qewiand! gra

qRaeT fhedt e fedher?
Ans X 1.24faw
X 2.28 fegw
W 3. 40 Raw
X 4.32faw
Question Type : MCQ
Question ID : 630680279386
Option 11D : 6306801085811
Option 2 ID : 6306801085812
Option 3 ID : 6306801085814
Option 4 ID : 6306801085813
Status : Answered
Chosen Option: 3
Marks : 2
Q.16 SR ‘A’ FgUTSt '+, ‘B’ TgUI '~', ‘C’ TgUTSt ‘%’ STfO1 ‘D’ FgUTSt ‘=’ 318, R Wiefiel GHIhRuIe
usiR=grean (?) seft shrg ade?
51D17A5C6B13="?
Ans X 1.15
< 2.21
o 3. 20
X 4.17
Question Type : MCQ
Question ID : 630680271192
Option 11D : 6306801053841
Option 2 ID : 6306801053843
Option 3 ID : 6306801053842
Option 4 ID : 6306801053840
Status : Answered
Chosen Option: 3
Marks : 2
Q.17 U=&i=T IR ST fRaeur 3mgd &g i fafre uer a9 enga onfor gas ares) ang. awest
STHUTR} 2reg-SitEl AarsT.
Ans X 1. @ FoTe
W 2. T gt
X 3.8 §e
X 4.3 Bid
Question Type : MCQ
Question ID : 630680272806
Option 11D : 6306801059785
Option 2 ID : 6306801059786
Option 31D : 6306801059784
Option 4 ID : 6306801059783
Status : Answered
Chosen Option : 2
Marks : 2




Q.18 Qant FFTiefiet 40 faemeafa Gt au 15 a¥ ong. SR ard fAererr au 3die gaifae &a, )
Tyt Terd TREH a7 16 a9 giEe. A o (auiae) fahedt emg?

Ans X 1.52
X 2.50
< 3.54
qf‘ 4. 56
Question Type : MCQ
Question ID : 630680277210
Option 11D : 6306801077315
Option 21D : 6306801077316
Option 31D : 6306801077314
Option 4 ID : 6306801077313
Status : Answered
Chosen Option : 4
Marks : 2
Q.19 R R enfor fAserd wergdes aran. fRammsd e afgeh & arm=aaot e awaideft
AT TR STeda, a4 T Mg 3R [ uveH, Retear FRepufdd storan/a Ao
Rear fRrurish adhdra emd/emda & s
faem:
T AR AGRYT STa.
T AR TATHT .
foreend:
(1) Terg! uAfam AR =n';?r
(I1) FreT=T ATt v *TET STed.
Ans X 1.y (1) snfor (1) B gt 9 smed
W 2. T e (11) T 3rmg
X 3. teh R (1) IT ammg
X 4. s (1) fahar (1) dhY Uepgt O T8t
Question Type : MCQ
Question ID : 630680256940
Option 11D : 630680997674
Option 2 ID : 630680997672
Option 31D : 630680997671
Option 41D : 630680997673
Status : Answered
Chosen Option : 2
Marks : 2




Q.20 3IfER-TC=T IR SiisaT fRetear 3gd, suideh! fadine ver fafaie aresaf eng snfor g ameht

3mg. oft e sreRTe-SiE sitear.

Ans X 1.GK-CG
X 2.0S-KO

W 3.IM-EJ
X 4.uy-qQu

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277556
6306801078673
6306801078676
6306801078674
6306801078675
Answered

3

2

Q.21 IR A=-Sitsar R engdq, saiddh) fadfined gen fafe grewt sng anfor ues ared ong.

TS M-S il
Ans X 1.dreror: SEt

o 2. WS

X 3. =g oy

X 4.4 qoer

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680277550
6306801078649
6306801078652
6306801078651
6306801078650
Answered

4

0

Q.22 Ueh R PR 10 km/h, 20 km/h, 30 km/h 311fST 60 km/h a1 AT 3 km =0T G&T IR ARTIaR

ST, a7 SiaRTae foaam SR a foreft emg?

Ans 4" 1.20 km/h
# 2.25km/h
X 3.30km/h
X 4.15km/h

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680279364
6306801085723
6306801085724
6306801085725
6306801085726
Answered

2

0




Q.23 Uit quiATATRATER suRET, e mifeda usiR=gr=an (?) Seft v e wifgs?

XEL, VHJ, TKH, RNF, ?

Ans X 1.MQE
X 2.0PF
o 3. PQD
X 4. MPE
Question Type : MCQ
Question ID : 630680271356
Option 11D : 6306801054499
Option 2 ID : 6306801054497
Option 3 1D : 6306801054498
Option 4 ID : 6306801054496
Status : Answered
Chosen Option: 3
Marks : 2
Q.24 a1ftfer 10% [ 1 aufETEY 1,200 S TRSeATST SHTTOY TehdTe earst gi=h refanftfer morT
heaTaR AT QUTRT EReh fohdl 31M@?
Ans X 1.0
W 2.33.00
X 3.%13.20
X 4.38.80
Question Type : MCQ
Question ID : 630680277358
Option 11D : 6306801077881
Option 2 1D : 6306801077884
Option 3 1D : 6306801077882
Option 4 1D : 6306801077883
Status : Answered

Chosen Option
Marks

01
-0




Q.25 Rah R snfor fAsewrd srresshigde aran. Rramidie mfgedh amaa: s auwiden e
3eesett a, T g, o A wReA RAwaid<h smturar/a P Retear fRum=iht adhema

Ans

3MMg/d & Sl

faem:

Td faemt a1 g e
ATl fasR & e =g
free:

i1y s g A
() 59 e g oo ardia.

o 1. P (1) R (1) 4y waret Tt .
X 2. daes e (11) deheTa g

X 3. P (1) 3o (11) G A i,
X 4. Faes s (1) dehdiTa 3

Question Type : MCQ
Question ID : 630680276933
Option 11D : 6306801076227
Option 2 ID : 6306801076226
Option 31D : 6306801076228
Option 4 1D : 6306801076225
Status : Answered

Chosen Option: 3

Marks : 0




